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I3 B3 AN TR A P R B LI BERLGE (o) A BESR, ROEE L SRR BE AR ST s,
() BT m B A T M T
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X R f F WL R MR T
L “BaE o RE” SrH BT .
(1) This passage is mainly about _
(2) The major point discussed in the passage is
(3) The author’s purpose of writing this passage is _
(4) The best title for this passage would be
(5) The passage tells us
(6) The title that best expresses the main idea of the passage is
(7) The main idea of this selection may be best expressed as
X R BRI E A B RSB R RE S . ﬁﬁ@miﬁﬂ‘ﬂ"ufﬂ’@ﬁ A 0 Y ek
2O KT RE i —#, BRI R EERMIFLNGR, BNEE G REH08BE B¥LTF
BESERE. X RR, REEABIEAEETE T, ENETXHERER LRERLE X, BELIGRE
WA 2 £, VF‘%%H\%’I‘?‘?E%J‘E?TI&H&E‘L HAREANEBRITHET 44, ZH, RTUEEEL
1A bl AR
Eip

Read the following short passage and choose the best answer to each question.

The most amazing thing about education in the United States is the number of avenues of reentry it of-
ters. The doors are never closed. People of any age and in any location pick up again where they left off. A
large part of those who receive college degrees had interrupted their studies for a time and returned to take
them up once more. Many ways are open for continuing education outside the regular school system. Members
of the armed forces may enroll correspondence courses to complete high school or college work. Every depart-
ment in the federal government provides opportunities for employees to take courses. Tere are 35,000 private
schools which offer courses for adults in trades and other interests. These pathways for beginning again are
open to everyone and millions of Americans follow them every year.

Question: The best title for the passage would be

A) College Education System

B) College Education in the Army

C) Continued College Study in the Army

D) Opportunities to Continue Study

WA, M ESE, RUEMZESEHRRE, MTUW%%‘E&%F“% D). A) f1 B) H¥FX
FEE, WC) NEKME.

. YPRERHEAT T BAE W
(1) The author states that
(2) The writer mentions all of the items listed below EXCEPT

(3) Which of the following is NOT true according to the passage?

(4) The main difference between ‘:++” and ‘-’ is

XRMBHERTEEXER, FHERGIERE. K*M\Eﬁ%’l‘ﬁ] 1A 28 BRI ) 7 R GIE 5K Rk 4
— I —



TRIEFR . TR, BEERN, TEERHRIENMBRETT SRS .

LA 4 30 & K B

Question: Which of the following statements is true?

A) Most people like to interrupt their studies and return to schnol later.

B) The U. S. government provides many kinds of education for its people.

C) The officers and employees hardly have any opportunity to study.

D) Only white-collar workers can pick up correspondence courses.

ABERGEBHFEERE. TUAEH, A), O MD) BREXHFREWEY RS FLRHEE,
B) MURX SCH BT RPIS &MV A S, XA FHRHE SR M. B, B) SERERMEE.

- CRRIE S R HENT T R T

(1) The author probably feels that

(2) The passage is intended to state that

(3) It can be inferred from the passage that

(4) The passage implies that

(5) The paragraph preceding this passage probably states that

REBHEER K, BAXFHEFERY., & Elﬂﬂﬁﬂ‘hﬂl%:i’"]?—fuﬁ‘ﬁb?ﬁﬁ%’i‘ﬁiﬁﬁ%lﬁ%%

FrUEXREEBERENAMHBHMERR S, B, EREN, RERMEEENESEE, ERESER
0B W FE A S E B HE T

AU ERXEN:

Question: It can be inferred from the passage that

A) soldiers may enter any colleges in the United States

B) soldiers may study in the department of the federal government

C) soldiers may continue their studies in the army college

D) soldiers may take courese of academic study while they are working in the army

IR F A 4T “Members of the armed forces may enroll correspondence courses to complete high school or
college work. ” XHFEAUEMHERERRER D). A) RHRLETY LEFAE, MXFHLHE,
EHRDP “RENBRARVTUSNEZRBUSRFERIREZL”. B MO 5XEAFNEIMAEHRE.

4 “BEFABBEL" BHELET:

(1) The word ‘*+’ in Line++, ---paragraph means

(2) ‘-++? as used in this passage means

(3) By ‘+’, the author means "

XEBEEXELZEMRFIGES, MARALCE. "AFNEXE—RELTHEN LT XHHELRE.
WX HE EEF/UTILAHELR:

OFH, ERTBXHHEYHE, BESENARTTREEENTEL.

%0 :He threw the pot in an hour. The wheel turned busily and the shape grew quickly under his forming

fingers.

B AR R EA@Q@@J%I%VE%%&H@%% MR LASE tH “threw” & “[ERgERMIE” = “4E
BiwREERE” ZE.

@FHt, 6 CHBAR, BB IR LU k.

#i4m . A typical hurricane brings 6-to-12-inch downpours resulting in sudden floods.

BE#R “downpour” BEEESIKEEKRE, FUEHER “KW” ZH.



OF, X AR ER, (EHTT RTS8 — 7 i E e i X

%4 . Robert was proud of the neat rows of marigolds in his flower beds.

M “flower beds” B[LISFH “marigolds” B—F7E,

@Fr, ERAFHWE SHLR, SERTFRARERZTENER.

#tm . He laughed and shrugged. “I’ve no choice,” he said, “I must bow to the ineluctable. ”

Question: The word ‘ineluctable’ is closest to

A) evil B) unavoidable C) unknown D) terror

MR —M ATk (have no choice), BAHITLMET , HEERBN, XN B HRA, FILIER
BEREB.

U : That was before we entered the permissive period in education in which we decided it was all right

not to push our children to achieve their best in school. The schools and the educators make it easy on us.
They taught that it was all right to be parents who take a let-alone policy. We stopped making our children
do homework. We gave them calculators, turned on the televisions, left the teaching to the tecahers and went
on vacation.

Question: By ‘permissive period in education’ the author means a time

A) when everything can be taught at school

B) when children are allowed to do what they wish to.

C) when every child can be educated

D) when children are permitted to receive education

JNSCH 2 A fE (we) 7E permissive period in education B W] LA A AR L HAF, W LAHREEH FTE
“permissive period in education” FEHIEREE B).

OFN, AP EHRAM SRS ZENERMEK.

. In the past, the world seemed to run in an orderly way. Now, however, everything seems to be
in a state of turmoil.

M however XA E T LB H, F-FEAAX . LAAT (in the past) I (now) KIHGR BRBMHE K.
LABTEY BE SR 2 orderly (HEBFHY), MABMERSHAR, Hit, “turmoil” #yiA URFTLUBEE N “RAL”
(out of order =Y disorderly),

@F N, XA AR BT LSRR E w4 7 B R

£ 40 . He said that he liked a room without gewgaws and tin-plate souvenirs. He complained that these
things tried to appear valuable but nevertheless were worthless.

MWCHAE[LAE H, “these (things)” FEHIER “gewgaws” fl “tin-plate souvenirs”, MXERFEAREER
w2, THRELMEN. UL, “gewgaws” W2 “AET AL R,

ML A ER T EANMERT, Ebﬂtkﬁ%lﬁﬁiﬁ;ﬁ, B—ESRER®EFEREKF, 27 (X
FEEHERM) MEMER, ERROEXPRTRERY, NERT, RERERLT.
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Unit One

Directions : In this unit there are 4 reading passages and S underlined parts chosen from these 4 passages. Each
passage is followed by 5 questions or unfinished statements. You should first choose the most accurate answer for
each multiple-choice question and then translate the underlined parts into Chinese.

Passage 1

Among the most popular books being written today are those which are usually classified as science fic-
tion. Hundreds of titles are published every year and are read by all kinds of people. Furthermore, some of
the most successful films of recent years have been based on science fiction stories.

It is often thought that science fiction is a fairly new development in literature, but it can be found in
books written hundreds of years ago. These books were often concerned with the presentation of some form
of ideal society, a theme which is still often found in modern stories.

Most of the classics of science fiction, however, have been written within the last one hundred years.
Books by writers such as Jules Verne and H. G. Wells, to mention just two well-known authors, have been
translated into many languages. Modern science fiction writers don’t write about men from Mars or space ad-
venture stories. They are more interested in predicting the results of technical developments on society and
the human mind or in imagining future world which reflects the world we live in now. Because of this their
writing has obvious political undertones (& ).

In an age where science fact frequently overtakes (#f L) science fiction, the writers may find it difficult

to keep ahead of scientific advances. Those who see the future clearly can teach us how to master new tech-

nology and live in a rapidly changing world.

1. Every year >
A) many science fiction books are published
B) many science fiction books are written
C) a hundred science fiction books are published

D) many books are classified as science fiction

[av}

. You can find science fiction .
A) only in modern literature
B) only in ' noks written for children
C) in books written today and hundreds of years ago
D) as a new development in literature
3. Most of the classics of science fiction have been written within s
A) the last few hundred years
B) the last one hundred years
C) the last two hundred years

D) the last three hundred years

S

. Modern science fiction writers are interested in .
A) writing about men from Mars
B) writing about everything but politics
C) imagining future world with the results of technical developments

D) writing space adventure stories



5. Science fiction writers may provide a valuable lesson on how to deal with the problems of

A) conflict caused by different political theories

B) adopting new technology and adapting quickly to its effect on society

C) conflict caused by different religious beliefs

D) space adventre
Passage 2

Another common type of reasoning is the search for causes and results. We want to know whether

cigarettes really do cause lung cancer, what causes malnutrition (B3 A R ), the decay of cities, or the decay
of teeth. We are equally interested in effects: what is the effect of sulphur or lead in the atmosphere, of oil
spills and raw sewage in rivers and the sea, of staying up late on the night before an examination?

Causal reasoning may go from cause to eifect or from effect to cause. Either way, we reason from what

we know to what we want to find out. Sometimes we reason from an effect to a cause and then on to another

effect. Thus, if we reason that because the lights have gone out, the refrigerator won’t work, we first relate
the effect (lights out) to the cause (power off) and then relate that cause to another effect (refrigerator not
working). This kind of reasoning is called, for short, effect to effect. It is quite common to reason through
an extensive chain of causal relations. When the lights go out we might reason in the following causal chain:
lights out — power off — refrigerator not working — temperature will rise — milk will sour. In other words,
we diagnose (HTiE) a succession of effects from the power failure, each becomin~ the cause of the next.

Causes are classified as necessary, sufficient, or contributory (43 % 2). A necessary cause is one which
must be present for the effect to occur, as combustion is necessary to drive a gasoline engine. A sufficient
cause is one which can produce an effect unaided, though there may be more than one sufficient cause: a dead
battery is enough to keep a car fro n starting, but faulty spark plugs or an empty gas tank will have the same
effect. A contributory cause is one which helps to produce an effect but cannot do so by itself, as running
through a red light may help cause an accident, though other factors—pedestrians or other cars in the inter-
section—must also be present.

In establishing or refuting a causal relation it is usually necessary to show the process by which the al-

leged cause produces the effect. Such an explanation is called a causal process.

6. What the author discussed in the previous section is most probably about ) .
A) relationships between causes and results B) classification of reasoning
C) some other common types of reasoning D) some special type of reasoning

7. According to the passage, to do the ‘effect to effect’ reasoning is to reason .
A) from cause to effect
B) from effect to cause
C) from effect to effect and on to cause
D) from effect to cause and on to another effect
8. A necessary cause is g
A) one without which it is impossible for the effect to occur
B) one of the causes that can produce the effect
C) one that is enough to make the effect occur
D) none of them
9. Your refrigerator is not working and you have found that the electric power has been cut off. The power
failure is a .

A) necessary cause B) sufficient cause C) contributory cause D) none of them

__.2_



10. This passage mainly discusses

A) causal reasoning B) various types of reasonirg C) classification of causes D) the causal process
Passage 3

Thomas Jefferson was inaugurated (3£ER) on March 4, 1801. He was the first president to take the oath
(E¥#) of office in the nation’s permanent capital, Washington, D. C. Although Washington was a new city,
it was already familiar to President Jefferson. In fact, Jefferson had helped plan the capital’s streets and public
buildings. Besides being a city planner and architect, the new president was a writer,a scientist,and the inven-
tor of several gadgets (/N%& B) and tools.

After his inauguration, Jefferson moved into the presidential palace. The Palace was more than a home:
it contained offices for the president and some of his staff and advisers. It also included dining and reception
rooms, where the president could entertain congressmen. However, President Jefferson did not give many for-
mal parties. This was partly because there was no First Lady; Jeffcrson's wife had died in 1782. But it was
also because Jefferson liked to live in a simple fashion. Once, he showed up for an important meeting wearing
old clothes and down-at-the-heels slippers! Neither Washington nor Adams would ever have dressed so casu-
ally.

Jefferson was different from the first two presidents in other ways, too. He disagreed with them about

how the country should be run, and about what part a president should play in running it.

11. Which of the following statements about Washington D. C. can be correctly inferred from the passage?
A) Tthe presidential Palace was not located there.
B) It contained many old buildings in 1801.
C) It was not the first capital of the United States.
D) Thomas Jefferson was a newcomer there in 1801.
12. According to the passage, Thomas Jefferson was all of the following EXCEPT
A) a scientist B) a writer
C) an architect D) a carpenter
13. According to the passage, the Presidential Palace was built to be
A) a hotel for visiting kings
B) an office building and home
C) a museum for colonial American tools and gadgets
D) a meeting place for newspaper reporters
14. Tt can be inferred that one reason Thomas Jefferson did not entertain very often in Washington was be-
cause
A) he did not enjoy elaborate parties
B) he and his wife did not have appropriate clothes
C) the food in the area was not good
D) he could not understand foreign languages
15. It can be inferred from the passage that George Washington and John Adams both
A) lived for a long time in Washington D. C
B) were rather formal gentlemen
C) traveled to many foreign countries
D) encouraged Jefferson to run for the presidency
Passage 4

Every artist knows in his heart that he is saying something to the public. Not only does he want to say

_.3_




it well, but he wants it to be something which has not been said before. He hopes the public will listen and

understand—he wants to teach them, and he wants them to learn from him.

What visual artist, like painters, want to teach is easy to make out but difficult to explain, because
painters translate their experience into shapes and colors,not words. They seem to feel that a certain selection
of shapes and colors, out of the countless billions possible, is exceptionally interesting for them and worth
showing to us. Without their work we should never have noticed these particular shapes and colors, or have
felt the delight which they brought to the artist.

Most artists take their shapes and colors from the world of nature and from human bodies in motion and
at rest; their choices indicate that these aspects of the world are worth looking at , that they contain beautiful
sights. Contemporary artists might say that they merely choose subjects that provide an interesting pattern,
that there is nothing more in it. Yet even they do not choose entirely without reference to the character of
their subjects.

If one painter chooses to paint a decaying leg and another a lake in moonlight, each of them is directing

our attention to a certain aspect of the world. Each painter is telling us something,showing us something, em-

phasizing something—all of which means that, consciously or unconsciously, he is trying to teach us.

16. An artist hopes that the public will .
A) understand him and learn from him
B) notice only shapes and colors in his work
C) teach him something
D) believe what he says in his work
17. It is hard to explain what a painter is saying, because "
A) most painters do not express themselves well
B) a painter uses unusual words and phrases
C) a painter uses shapes and colors instead of words
D) many painters do not say anything
18. The writer says that contemporary artists might say their choice of subject .
A) carries a message to the public
B) only provides interesting patterns
C) has no pattern or form
D) teaches the public important truths
19. The writer s»ys that contemporary art contains .
A) nothing but meaningless patterns
B) uninteresting aspects of the world
C) subjects chosen partly for their meaning
D) completely meaningless subjects
20. Tt is implied but not stated .
A) that a painting is more easily understood than a symphony
B) that art is merely the arranging of shape and color
C) that every artist tries to say something to the public

D) that one must look beyond shape and color to find what the artist is saying



Unit Two

Passage 1

A long, imaginary prose story about people is usually called a novel.

It can be about any kind of man, woman, or child. It can be about kings. or Chicago newsboys, or con-
victs, or housewives. The Frenchman, Victor Hugo, wrote his novel Les Miserables about a poor man who
stole a loaf of bread to keep from starving. The American, Ernest Hemingway, wrote A Farewell to Arms
about a young American with the Italian Army in World War 1. '

A novel can tell the story of any kind of action, over any period of time. The modern Irish writer, James
Joyce, covers less than twenty-four hours in Ulysses. Yet Joyce takes a thousand pages to tell all that happens
from the time one man gets up in morning until he goes to bed early the next morning. A German writer , Her-
man Hesse, uses only one hundred and fifty pages in his novel Demian to cover a boy’s life from the age of ten
until he becomes a young man.

A novel does not merely tell the things that people do. It also tells why they do them. The Red Badge
of Courage, by the American, Stephen Crane, tells about a young soldier in the War between the States who
runs away the first time he is in battle. The book shows why he acted as he did. It describes his mental suffer-
ing until he overcomes his fears.

Character, action, motive —this, then, is the stuff of which novels are made. And herein (7, F

It.) lies the reason tor the novel’s continuing popularity, despite changes in style and technique. People buy

novels because they enjoy reading about other people. Alone among the literary forms, the novel satisfies the
human craving (#§#) to know and understand our fellow creatures.
1. The best title for this passage is
A) A Young Soldier B) The Nature of the Novel
C) The History of the Novel D) Five Novels
2. According to the passage, a novel must be about
A) kings B) people
C) what happens in a single day D) soldiers in battle
3. According to the passage, a novel should
A) satisfy our desire to understand what motivates other people
B) experiment with new techniques
C) be between one hundred and fifty and a thousand pages in length
D) describe actions which are familiar to the reader
4. The amount of time a novel must cover is
A) twenty-four hours B) three years
C) a lifetime D) not fixed
5. A novel about a boy’s life is .
A) Les Miserables B) A Farewell to Arms

C) Ulysses D) Demian
Passage 2

Dr. Harvey Gates, the noted scientist, might never have discovered the Kamron lizard (% & %) in Blovia,
if it had not been for a childhood accident. When he was young he was determined to become a baseball play-

er, but when he broke his arm in practice at the age of fourteen and was forced to stay off the playing field for
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a while, he took notice of the natural world around him and liked what he saw.

After the plaster had been taken off his arm, he caught a squirrel (#2B) and raised it as a pet. Soon he
was bringing home snakes and other creatures from the woods near his school.

In 1962, he entered Blakeford College arnd majored in biology. By 1966 he had received his Bachelor (2%
1) of Science degree and two years later at Drysdale University, he received his Doctor of Science degree.

It was while he was doing field research for his doctoral dissertation (3£ )in South Amercia in 1967 that

he discovered and named the Kamron Lizard. This cold-blooded animal was distinguished from others of its

kind by the fact that it had only four toes on its front feet. In other aspects, it was similar to others of the
same family. It could change its color and go for long periods without food.

Dr. Gates received his appointment as a professor at the University of Huntsford in 1970.

6. Before breaking his arm, Dr. Gates
A) had little interest in biology B) began to lose interest in biology
C) enjoyed both baseball and biology D) had a growing interest in biology
7. Dr. Gates received
A) his first degree in 1962 B) his second degree in 1966
C) his highest degree in 1968 D) his doctor’s degree in 1970
8. Mr. Gates discovered the Kamron lizard
A) just after he received his doctor’s degree
B) while he was preparing his doctoral dissertation
C) at the time he was studying at Blakeford College
D) after he graduated from Drysdale University
9. Which of the following is NOT true about the Kamron lizard?
A) It possesses four toes on its front feet.
B) It can live a long while without eating.
C) It may go for weeks without drinking.
D) It is capable of altering its color.
10. The main idea of the passage is that

A) Dr. Gates was determined to become a baseball player

B) an accident changed the life of Dr. Gates

C) Dr. Gates liked biology better

D) Dr. Gates was a diligent student during his studies at university
Passage 3

There are ve.rious ways in which individual economic units can interact with one another. Three basic
ways may be described as the market system, the administered system, and the traditional system.

In a market system individual economic units are free to interact among each other in the marketplace. It
is possible to buy commodities from other economic units or sell commodities to them. Ian a market, transac-
tions may take place via barter (5} %) or money exchange. In a barter economy, real goods such as automo-
biles, shorts, and pizzas are traded against each other. Obviously, finding somebody who wants to trade my

old car in exchange for a sailboat may not always be an easy task. Hence the introduction of money as a medi-

um of exchange eases transactions counsiderably. In the modern market economy, goods and services are

bought or sold for money.

An alternative to the market system is administrative control by some agency over all transactions. This

agency will issue edicts (#%) or commands as to how much of each goods and service should be produced,

_6_



